BSG 203: Introduction to Business Law

Case Analysis 3

This case analysis carries 14 marks and is due in class in the first class after the winter break.
Instructions

01. Submit the assignment on time in class, not in the office; 

02.  late submissions will lose 3 marks for each day after the submission date;
03. Submit a hardcopy; email submissions are not accepted;
04. Submit the assignment in class; office submissions are not accepted.
05. Do your own work; do not copy from classmates. Any two or more assignments that are exactly the same will each get a zero grade.
Carefully read the following case and then answer the case analysis questions below (17 marks).
Lumberworld is a large logging corporation that conducts its operations in the Amazon Rainforest in Brazil. Each year, the company cuts down thousands of trees and process them for lumber exports. Recently, the company has made huge profits for its shareholders. It has always followed environmental laws and regulations set by the Brazilian Government for the protection of the forest from deforestation. The company also plants a tree for each tree it cuts down. Lumberword has been doing this for fifty years. As a result, the corporation’s operations have not led to a decrease in the number of trees where those operations are conducted. The company also builds homes and provides payments for Indian tribes which have to leave their lands because Lumberword uses those lands for its production operations. In interviews with TV stations and newspapers, those tribes have consistently indicated that they are satisfied with the way Lumberworld treats them. In fact, those tribes have never filed any legal case against the company.

Case Analysis Questions:

01. Name the social responsibility theory that best applies to this case (3 marks).

02. What does this theory say (4 marks)?

03. Provide information from the case that shows that the theory you name applies to this case (7 marks).
